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Electricity: Foundation Tier

Question KEY
No.
One 1 —lamp
2 —fuse
3 — thermistor
4 — variable resistor
Two 1 — brown
2 — white
3 —blue
4 — green and yellow
Three 1 — provides a potential difference (voltage)
2 — safety device which uses an electromagnet
3 — melts when the current gets too large
4 — changes the voltage of an a.c. supply
Four 1 —increased
2 — decreased
3 —reversed
4 — the same
Five 1-M
2-L
3-K
4-1
Six Q
R
Seven A has the same frequency as C
B has the same peak voltage as A
Eight 81—-A, 82-A, 83-A, 84-B
Nine 9.1-D, 92-C, 93-C, 94-C

Ten

10.1-C, 102-B, 103-B, 10.4

-B
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Three A has the same frequency as C
B has the same peak voltage as A

Four the brushes change a.c. to d.c.
when the coil spins faster the frequency of the a.c. generated decreases

51-A,52-A,53—-A,54-B
Six 6.1-D,62-C,63-C,64-C
71-C,72-B,73-B,74-B

81-D, 82-C, 83—-A, 84—A
91-A, 92-D, 93-B, 94-D

Ten 10.1-D, 102-C, 103-A, 104-C




